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For he stuck out his teeth and scratched him — 7799793 ;792°1% [OPERT

OVERVIEW

The X713 explains that we can maintain the 27 P17 7¥n2 8"9, and nevertheless the
29071 91 is liable and we do not say *R2757 X192 77° *v2 °K», since the victim’s hand
was never within the dog’s mouth but rather the dog stuck out his teeth and bit the
man outside his mouth. NooIN explains why the X3 did not offer an alternate
solution.

mooIn anticipates a difficulty:
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The %7723 could have answered that there is no proof for we are discussing a case
where for instance the 770w did not bring in his friend’s hand into the mouth of
the dog, but rather the dog himself grabbed his hand when he was incited —

mooIn responds why the X773 did not offer this refutation:
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Rather the X773 chose to answer according to what the one who brought the
proof assumed, namely that we are discussing a case where the 7own extended
the hand of his friend into the mouth of the dog.

SUMMARY
A 1370 prefers to change as little as possible from the understanding of the jwpn.

THINKING IT OVER

The wpn assumed two things; that the 7own (a) placed the hand of his friend, (b)
into the mouth of the dog. There are two possible refutations to this assumption;
either (a) the own did not take his hand; the dog did (m01n proposed answer), or
(b) the mown did take the hand but the dog bit it outside his mouth (the actual
answer). Why is option (b) more in accordance with the Jwpn than option (a)?!

!'See vwon 7"7 Moo (on the & Ty [TIE footnote # 8]) that even if we assume "7 P> %1 5”5, nevertheless there
is a 270 for the taking. Here too the 27377 7¥1 is liable since the dog took his friend’s hand.

* See vwon "7 mon [TIE footnote # 19]; the proof from 70w is only if we assume that the 7own placed his
friend’s hand inside the dog’s mouth.
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